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Where k1 is another constant and 
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And at standstill when s=1, obviously


[image: image2.wmf]÷

÷

ø

ö

ç

ç

è

æ

+

×

=

+

=

2

2

2

2

2

2

2

2

2

2

2

2

2

2

1

2

3

,

)

(

X

R

R

E

N

Or

sX

R

R

E

k

T

s

st

p


� EMBED Equation.3  ���








[image: image3.wmf]s

N

k

p

2

3

1

=

_1336313679.unknown

_1336314038.unknown

_1336314058.unknown

_1336313981.unknown

_1336313588.unknown

